P—ARAA—FIZLDAERBROBMNOE (FRREF)

HBIE BB BIEIZPT Xix BIEFER (uSv/h)
11H18H #hE1m 0.077
1485104 ~ |#F £ 55 —hsp ks (= gh #h_E50cm 0. 086
148195 #h_E10cm 0.086
11H18H #E1m 0.063
15852149 ~ [T LR 4% =7 gh #h_E50cm 0.069
1505269 #h_E10cm 0.073
11A168 #hE1m 0.086
11850093 ~ [ ‘SRR FR =30 #h_E50cm 0.088
1185065 #h_E10cm 0.096
11A16H #E1m 0. 086
8EFH5 % ~ | T £/ AR =30 #h_E50cm 0. 081
98%004> #h_E10cm 0. 086
11A16H8 #hE1m 0.098
9BE2745 ~ | Kt LR /NERR £ #h_E50cm 0.098
93247 i E10cm 0.098
11A16H #E1m 0.088
1085495 ~ | A /N4 =l #h_E50cm 0.090
108553 % #h_E10cm 0.094
11A16H8 #hE1m 0.090
1085035 ~ [BEIR/NFERR =) #h_E50cm 0.090
1085085 #h_E10cm 0.096
11H18H #E1m 0.094
1485559 ~ L8 B /R BEn #h_E50cm 0.108
1585019 #h_E10cm 0.115
118228 #hE1m 0.086
1588399 ~ | LB AT/ NER N #h_E50cm 0.096
1585455 #h_E10cm 0.109
11A16H8 #E1m 0.099
B2 ~|FE—REBEERE £Y #h_E50cm 0. 099
9R%55%> #h_E10cm 0.106
11H18H #hE1m 0.084
146300 ~ |EZRER B #h_E50cm 0. 086
148535% #h_E10cm 0.093
11A16H8 #E1m 0. 096
11100 ~ | AMERER =l #h_E50cm 0.096
118129 #h_E10cm 0.103
11H16H8 #hE1m 0.122
1085199 ~ |[BRRBE =) #h_E50cm 0.122
1085214 #h_E10cm 0.125
11H228 #hE1m 0.106
156309 ~ | LB RERE =l #h_E50cm 0.103
1585325 #h_E10cm 0.106




HIE BB BIEIZPT Xix BIEFER (uSv/h)
11H18H #hE1m 0.103
15059 ~ LD ERERE (= gh #h_E50cm 0.112
1580845 #h_E10cm 0.112
11A16H #E1m 0. 086
9365 ~ | ILERTREE =Y #h_E50cm 0.093
9r%39%> #h_E10cm 0.103
11A168 #hE1m 0.093
OBF065> ~ | Z 2 AT IR EE £ #h_E50cm 0. 096
95084 i E10cm 0.106
11A16H #E1m 0.106
OBF185r ~ |FAET R EEE =30 h_E50cm 0.108
98%20%> #h_E10cm 0.108
11A168 #hE1m 0.084
1085405 ~ | &M R EER =30 #h_E50cm 0.084
1085425 #h_E10cm 0.089
11H18H #E1m 0.099
1485405 ~ |3 LR BEn #h_E50cm 0.112
1485459 #h_E10cm 0.122
11A168 #hE1m 0.086
fE439 ~ | AT L WT A FHE =30 #h_E50cm 0.089
9§45 #h_E10cm 0.106
1M1A1TH #E1m 0.098
1085059 ~ |3 ) I 24 = #h_E50cm 0.104
1085119 #h_E10cm 0.108
11 A178 #hE1m 0.096
9RF369 ~ |RAV/NEHR =) #h_E50cm 0.098
9RF4247 i E10cm 0.104
1M1A1TH #E1m 0.092
B399y ~ | BB /INVERL BEn #h_E50cm 0.092
9R%45%> #h_E10cm 0.092
11 A178 #hE1m 0.089
106530 ~ |2 ERER £ #h_E50cm 0.093
1085554 #h_E10cm 0.093
1MA1TH #E1m 0.093
108259 ~ | KZRBE = #h_E50cm 0.093
1085289 #h_E10cm 0.099
11A178 #hE1m 0.089
9BEE3N ~ | IRETIRBE =) #h_E50cm 0.093
9RE5H5% #h_E 10cm 0.103
1M1A1TH #hE1m 0.089
W7~ |REREBRE £Y #h_E50cm 0.093
9850947 #h_E 10cm 0.096




HIE BB BIEIZPT BIEHER (uSv/h)
11 A178 #hE1m 0.093
027 ~ | RNEEREM #h_E50cm 0.089
9RE29%> #h_E10cm 0.096
11A178 #E1m 0. 086
IBF199 ~ | o h O HEE 1 _E50cm 0.093
9B%214> #h_E10cm 0.096
11 A178 #hE1m 0.098
1485169 ~ [fHHR R 242 #h_E50cm 0.100
1482359 #h_E10cm 0.108
11A17H #E1m 0.084
1185085 ~ | F MR 4% #h_E50cm 0.086
1185159 #h_E10cm 0.090
11 A178 #hE1m 0.098
1385359 ~ [ AR/ AR #h_E50cm 0.104
1385395 #h_E10cm 0.102
1MA1TH #E1m 0.083
1185235 ~ [Rb L/ N4 #h_E50cm 0.083
1185289 #h_E10cm 0.083
11 A178 #hE1m 0.104
1485355 ~ [# R/ NERR #h_E50cm 0.100
1485405 #h_E10cm 0.102
1M1A171H #E1m 0.094
15850843 ~ [ fHHR B /N2 AR #h_E50cm 0.090
1585139 #h_E10cm 0.094
11A178 #hE1m 0.096
1485015 ~ | R/ NEER #h_E50cm 0.098
1485075 #h_E10cm 0.102
1MA1TH #E1m 0.093
148509 ~ R+ EREE #h_E50cm 0.108
1485539 #h_E10cm 0.099
11 A178 #hE1m 0.115
11365 ~|HD Y RER #h_E50cm 0.108
1185394 #h_E10cm 0.118
1MA1TH #E1m 0.080
138545 ~ | FEERBRT #h_E50cm 0. 086
1305569 #h_E10cm 0. 086
11H228 #hE1m 0.079
1085554 ~ [§A B P4k #h_E50cm 0.090
1185025 #h_E10cm 0.096
11H18H #hE1m 0. 096
158369 ~ [/IMI/NE4 #h_E50cm 0.100
15854159 #h_E10cm 0.109




BE BB B E 15T K BIERER (uSv/h)

11A188 i E1m 0.083
1685055 ~ | = E/NFRR Eh i _E50cm 0.092
1685135 th_E10cm 0.109
11A18H i E1m 0.090
1685409 ~ |FAB & & Y INERR Eh th_E50cm 0. 094
1685455 i £ 10cm 0.100
118228 i E1m 0.142
11855593 ~ | IRIR/INVERR £ i _E50cm 0.157
1285055 th_E10cm 0.163
11A228 i E1m 0.113
1185285 ~ 1R EFET/NFAR Eh th_E50cm 0.121
1185359 i £ 10cm 0.123
11A188 i E1m 0. 096
1585545y ~ |EEER B E Eh #h_E50cm 0.099
158§57 5> th_E10cm 0.099
11A18H i E1m 0.093
166165~ | =EREE Eh th_E50cm 0.089
1685205 i _E10cm 0.108
11A188 i E1m 0.108
1685309 ~ | SRR B E Eh £ 50cm 0.115
1685355 th_E10cm 0.125
11228 i E1m 0.134
1185504 ~ | IRIRRBEE =Y t#h_E50cm 0.134
118535 #h_E10cm 0.144
118228 i E1m 0.089
1185 ~ |{EHFETREE Eh #h_E50cm 0.093
1185215 t#h_E10cm 0.093
11228 i E1m 0.084
1485455 ~ [LLAL R 4% INFR #h_E50cm 0.090
1455565 i _E10cm 0.102
118228 i E1m 0.083
13854193 ~ | S AIFE S BINVERR £ i _E50cm 0.088
1365455 i £ 10cm 0.090
11A228 i E1m 0.083
1485369 ~ | S AIF < L/ INFR #h_E50cm 0.088
1485425 £ 10cm 0. 096
118228 i E1m 0. 055
14850749 ~ [ILALIZC WA REE INFR £ 50cm 0.082
1485095 i £ 10cm 0. 064
11A2280 i E1m 0.080
138545 ~ |t B E £ o REE £Y i _E50cm 0. 086
1385585 i _E10cm 0.099
11228 i E1m 0.070
1485155 ~ [lLAL O FED Y ZERERT INFR #h_E50cm 0.077
1485175 #h_E10cm 0.080




